Uve00
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P0.0.15 P0015= /60
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P0.0.03=0 P0.0.24 RUN
1
P0.0.05 P0.0.05=20.00Hz (
20.00Hz ) P0.0.05

P0.0.05




P0.0.02
P0.0.13
P0.0.14
P0.0.15 P0015= *
P0.0.16 /60
P0.0.17
P0.0.18
P0.1.26 0 ABZ
1 uww
2
P0.1.31 ABZ uvw
P0.1.34
P0.1.30
P0.1.37
P0.1.38
PO.1.31
P0.1.28 ABZ ABZ
P0.1.32 uvw
P0.1.33 uvw o
P0.1.30
P0.1.37
P0.1.38
P0.1.31
P0.1.28 ABZ
P0.1.32 Uvw
P0.1.33 uvw




P0.0.03=0 P0.0.24 RUN

1
3.
P0.0.05 P0.0.05=20.00Hz (
20.00Hz ) P0.0.05
P0.0.05
P01.39 1800 1000-2000 | 0.1%
P01.41 1100 0-3000 0.10%
P01.48 0 0-2 1 1
P01.49 120 30-150 1%
P01.52 15 5-16 0.1
0:
1
P0.0.10 0 0-3 1 5
3
P0.0.13 2 1 2
P0.1.39
P0.1.41
P0.1.48 0
1 2
1
0
P0.1.49
P0.1.52
P0.0.10
P0.0.10=3
P0.0.13 2




Ke
E= Ke*nN*2m /60
E’ V/1000r/min

E=E*nN/1000

E=P/ +3*

nN P I



